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Yes! Two (2/4) tracks!
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Simulated x*"
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Reco tracks

Yes! Two (2/4) tracks: one X and one Tt!
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Strategy

1. Establish chargino candidates (chl and ch2 w/ highest reco pT)

2.1f n chargino candidate >=1 :
1.Run on the track collection and compute distance in theta/phi w.r.t. chl and ch2

2.Assign track to either chl or ch2 (min distance)
3.If distance > 1.0: skip the track

4.Check on hit position inr:
r-coord of pion first hit must be > r-coord of chargino’s last hit
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- Test on 48 events (2 files)
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- Test on 48 events
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Conclusions and discussion
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* Debug info and pion variables in TTree are in place

* Looking at the sig only:

In most of the events longer chargino are reconstructed X
In most of the events “prompter” pions are reconstructed \
(coming from shorter charginos!)

— not easy to find events with both!

* Looking at the sig+ove:

lots of pions still pass the _
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Thank you for the attention!




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9

